@ x=gFFelth. — x>0

@ x4 H A G}, — x> 4
@ xel1HgIazx gy —x<1
@ xe=7HG AT —x<7

B x=_6H 33 0olstoltk - —6<x<0



s S x =3 < 1 o] He F542?

® 3x<7 @ x+3<2x
®§>x+2 @ 12-2x>2x-5

® 3x-2)=>5



3. H=dTEL A

mlm

@® a<bd W, ax(-9)=bx(-9)
@ azb%ﬁ,—6+§z—6+§
® a<b <, —ia—2<—ib—2
@ a>b<gu41,§>§<%,c>0)

® a>bdd Y, 5-4da<5-4b



o Fol4 QAR5 Ao] o 2L

D 2x+1>10 @ x<3x-4
@ 3-x>22-x @ 2% —x?<x®>—-x

B 2-2<x2-x-4



5. 2x-3>5,3x-2<2x+ 72 BF UESHE= v 9 3he?

D 2<x<5 @ 2<x<9 ® 4<x<5b

@ 4<x<9 B 5<x<9



D
+
52

T

— 3
AV
—~
N
| |
5 X2
NS
NN S
——

® 8 3 10 @ 12 B 13

D 6



7.

e BEA |1 —4x < T-5x < x—5 2 FAA 9o et

Hh2 A Lrerd 222

g

ftlo

o,



q 1-3x>-5 of a7t = W, F a 9 e
dx—a>2(x-2)

re
)
4
ol

>,

%
do
rir

D

@D a>8 @ a<4 ©

| =
IA
Q
A
()

@ A<a<8 ® -4<a<8



S7H 20 T, AL a ©f gho] eI

B qg= @ a>1 B a<l1



17t g, a o] ghol 2 5= 3=

5]

S

@ 3 B 4 @ 5 ® 6

@D 2



shAdet 2AdE ob4

=
=

™

o] ShA] ol gl el

Pan =4
=

d

e

}

X0

@ 18L 9]

T}

..AO

@ 15L ©°]

T

7A.O

@® 12L °]

T}

7AO

3 30L ©|

@ 20L ©|A



12. 2<x<139|1,a<-2x+7<b<q W, a+ 7h O] 322

D 0 ® 2 B 4 @ 6 B 8



13. x<-3 A0, —x 16 9 4] gte] WS Fafoiel.

>R
=%



14. x<4 9o, —2x+1 9 ko] H=?

O -2x+1<-7 @ -2x+1>-T7 @ -2x+1<7

@ -2x+1>7 ® —2x+1<7



15. of o 7HjoA 9 & W
At

= 1694 o]H 42| HjE wl ~H ot

4



16. thg AL ol REA 2 ek Aolck. thg F o] 15
ol H 4 gl AS dIA 1 E A
< * >
T.x4+120
L. 2x+3<1
C.x—-5>6
2. 2(x+1)>0
0. 3x—-4<2
O 1,c @ 1,= (© IR =

@ L’ E’ E @ L’ E’ U



17.

ax—6<0 9 o7} x> -3 & o,

Qe



® 2<x<5



19. AHFEFA
{3x>5x—4
3x+a>2x
o] 7} he T S 1, 4 O] ZES

EE
c

Fatolat,




20. of" A=) 2 oA 6 & W 4= 9 Kk 2Far, 27 o A 11 A4
3ElE W I 9 Hot Ztal Qi of uf, of | A Ap-E F-ohd?

@D 4 @ 5 3 6 @ 7 B 8



0.7& MEE x0) e 2 2

© x+2(x-3)=(x+2)

® 2(x+1)+3>x-5




22,

2x+ 7 < 5x+ 1 & WEShes x o g FolA M 22 A€ «a

0.3x -3 > 0.7x + 1.4 & WZ5h= x o g SolA 7H
g q-p 2 FHe?

=
ju

@D 13 ® 14 3 15 @ 16 B 17



23.

-3x<2(1-x)

£ whEsts B4t 3o 2k
T Vd4x<-2x+4a

Jpu

SH= A% a©] gre] Wele?

D a<4 @ 4<a<T ®a<7
@ 4<a<T7 B 4<a<7



24.

ntetE-g sH=d] B 71 A= A4 20km, HHEHE R E Sol 2 w7t
A A& 10km 2 dojA A A= AZHE 3417 o]l 2 st
ghet, Wb S 2 km o2 A5t E=A] Ftofoiet,

a =N - km o]



25.

A He] Zo] g, b, c7}ﬁ747x 9, 2x+1, 3(x—1
71

Atk a, b, c =
Tahof et

5 J=x
=¥
S ER

ct

= 25 24

F-0|1L, a 7} 7V

rE



